Work for Week Nine, 19 October — 26 October

For Monday, October 19
Brief quiz. We will review in class before the quiz.

Practice NOM vs. GEN

. Y Hac HeT [posianb -m]. (use soft vowel letter)

. Y (professor lvanov) eCtb AOM U MalLUHA.

. B HoBoM OpAeaHe ecTb (a good orchestra: cuMPpOHNUYECKUIt opKecTp)

. EcTb 3A€Cb (computers?)

. Y MeHs (a big problem).

. Y (sister) HeT BOADbI B KBapTupe.

. Y Teb61 (an interesting profession)?

. B Poccuun yxe ectb (freedom of the press: cBo60Aa nevyaTun). Unu HeT (oHa)?
. AOMa y MeHfl CTOA U AUBaH eCTb, HO HeT (shower or bathtub).

10. 3aecb HeT (a floor or a wall); 3TO o4eHb NAOXafa KBapTupa.

11. Ay MeHs HeT (apartment).

12. Y (Ceprein UBaHOBMY) HOBaA XXeHa. OHa 0OYeHb CUMMNATUYHAaA.
(remove # and use 5. After 4, you can use a).

13. Y HUX TeAeBU30p eCTb, HO OH cTapblii. Y Te6s (a new TV)?

14. (A brother) y MeHs1 y)Xe ecTb, HO (father and mother) HeT. (MaTb has
the gen. maTepu; Mama has a regular gen).

15. Y Hero AooMa (milk) HeT. U (bread) ToXe HeT.

16. A (vodka) ecTb. 3TO X0opoLio!

17. 3T0 o4eHb NAOXO0. A y (door) HeT (handle: pyuka). (soft fem ABepb will
remove soft sign and add u. After velars, bl > n).

18. Y MeHs HeT (dog), HO (cat) eCcTb. Y MEHSl KOLLKa MAaA€HbKas, HO
cuMmnaTuyHas. (watch velar bl > n).

19. Y (HataAbst UBaHOBHA) O4YeHb CUMMNATUYHbIN MYX. (take Off 11, use soft
vowel letter n )

20. A y MmeHs (husband) Her.

OCOoONOUAE WN=

For Tuesday, October 20

4.2 Grammar: Second (and last!) conjugation of verbs. Pp. 140-141.
Study grammatr, pp.- 140-141. Note that 2nd conjugation verbs may have



infinitive themes in three different vowels, but the present tense non-
terminal vowel is always u.

Example:

BUAEeTb BUASAT (BUXKY BUAULLL BUAUT BUAUM BUAUTE BUASAT) ‘see’
AOUTBL AKGAT (AOOAK AOOULLIL AKHOUT AOOUM AHOOUTE AKDGAT

‘love’

cMOTPETb cMOTPAT (cMOTPH cMOTpULLDL...) ‘looK at’

MOAYATb MOAYAT (MOAYY MOAYULLBL MOAYUT MOAYUM MOAUYNUTE MOAYAT
‘be silent’

You must learn the infinitive and the 3rd
plural to know the conjugation.

To conjugate a verb, get the infinitive and the third plural. 2nd cOnj verbs
can have an inf. theme vowel in a, e, or u. If the 3rd pl ends in 51 or a, you
know it to be 2nd conjugation. Remove the -at or -aT1 of 3rd pl and get
thereby the stem of the verb. Then apply substitutive softening in the 1st
singular only: change stemn, 6 > nA, OA, T> 4, A > X, C > W. Keep p, A, H
and palatals as they are. Then add 10; change 1 > y if the preceding
consonant is a husher.

Example: Al0G-9T. Stem is A1006. Substitutive

softening AIOOA. Add 10. AOOAL0.

For 2nd sg to 2rd pl do not apply substitutive softening. Add u and the
terminal endings.

Mobile stress is predictable from a theme vowel stress in the infinitive
Vs. stem stress in the 3ra pl: AWOUTDL - AKGAT, CMOTPETL - cMOTPAT. In
mobile stress, the 1st sg ending is stressed, but the stem is stressed in the
other five forms, just as in nucatb ~ nMwyT of 1st conjugation.

Another example: cnatb - cnAT 'sleep’. By 3rd pl you know it is 2nd class. Get
stem cn-. Apply softening: cnA-. Add 10. Get 11 cnAt. For 2nd sg: cn-. Add Uulb.
Get cNULLb.

Another example. BUAeTb - BUAAT. Get BUA-. Apply softening,



get BuX-. Add 10. Change 10 to y after a husher. Get s1 BUXy 'l see’. Stress
is on the stem in both inf and 3rd pl, so it stays there throughout.

For Tuesday:

Read text, p. 138-9. Write workbook, 4.2, T, E, XX and the following

exercise for submission.

Figure out the forms, marking the stress with an acute accent:

Ilove

2. we speak

3. they see

4. you (sg) sleep

5. you (pl) are looking

Vocab:

roBopUTbL roBopiT

say, tell, speak

BUAETb BUAAT see

cnaTtb CNAT sleep
CMOTPETb CMOTPAT look at + acc
AOUTL AKDOAT love
CAULLKOM too much
TUXO quietly
rPOMKO loudly
KOHEYHO of course

BCE CAbILLHO

everything is audible

MOXeT OblTb

perhaps

HecuMnaTUYHbIN

not nice

eé He Bce AIOAT

not everyone likes it/her

For Wednesday 21 October




Write workbook 3, U, K, IT; Y and @ for submission.

Write in beautiful cursive (longhand) Cyrillic:

Mo npodeccop AOUT BCe CAABAAHCKUE A3bIKM.
MaTtb M oTeul XUBYT U paboTarT B HoBocubupcke.
No4yeMy Tbl He 3Haellb, KYyAd MAET HaLluM coceaun?

For Friday October 23

Practice with the genitive of nouns. Recall: for masc and neuter, the
ending is a/1, for all nouns in nom -a, it is bi/m, for fems in b, it is u.
Examples of masc/neuter: noA, NOAa, AOM, AOMa, My3e#, My3es,
YUYUTEADb, YYUTEAS, OKHO, OKHA, MTUCbMO, NMCbMA, 3aAaHue, 3aAaHunA
Examples of -a nouns: KOMHaTa, KOMHaThbl, anTeka, anteku, Cawa, Cawu,
HaTtaAbsl, HaTaAbM, HEAEAS, HEAEAU

Examples of fems in b: ABepb, ABepu, MebeAb, MebeAun

Practice: Y Hac HeT (NOAKaA, MYX, CeCcTpa, AeAyLKa, AMPT, 3apaHue,
KOLUKA, PyKa, MAaAbYMK, Nana, CTaAMOH, YAULQ, KHUra, AMUBaH, MebeAb,
YPOK, MY3€M, IAEKTPUK)

Y (HatanbAa BacunbeBHa) eCTb MalUUHbI.
Y (bopA u JIéBa) HET KOLLKMW.

Y (oHa) ecTb XONI0AUSTbHUK.

Y (OHU) HET KHUTK.

Y (Anekceun AnekceeBu4) eCTb AOM.

Translate:

1. They have a problem.

2. Where is the chess set?

3. Who has the key?

4. |1 have a very nice (female) neigbor.
5. We have a big apartment.

For Monday, October 26

4.3 Speaking languages (s1 roBOp10 NO-pyCcCKU U NO-aHrAMMCKKU). Russian
grading system (p. 151). Geography with B, Ha (p. 152). Past tense (153).



Preposition o (153). Modal HeAb3S.

4.3 Vocab

NO—aHrJIMMCKMU in English
Nno—pyccKu in Russian
NO—AMOHCKMU in Japanese
no—paHLy3CKHU in French
no—HemMeLuKu in German
6bITb; 6bI1N 6bINA 6blno 6blnu to be; past tense
60>xe mowm My lord!

Henb3A it is not allowed (prohibition); it is
impossible (alethic)

BYepA yesterday

HaxOpguTcA is located

nATépka 5; excellent

yeTBEpPKa 4; good

TpoMnka 3; satisfactory

ABOMKa 2; unsatisfactory

eavHuua 1; failure with dishonor

monoaEwy good job!

YuutcAa studies (3rd sg); is enrolled to study

A Npenoaalr pycCKUmn A3bIK

| teach Russian

Kadeaa pycckoro A3blka

the Russian Department

Ha Kadeape

at the department

Read text, pp. 148-9 and audit on your CD. Answer q's:

1. Kyaa MAET BoBa?

2. What does Vova caution Belka not to do?

3. Kakast y Hux 6oAbLuan npodoAema?

4. Yto npodeccop lMeTpoBckuit 3HaeT o Axkume (about Jim)?

5. BoBa roBOpUT NO-aHrAMMUCKU?

Read 151 and try workbook b, I, A.

Read 153. Write for submission a brief paragraph telling: where you
were yesterday and what things you did.




